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AA1 / QMB jHdmdr i|yd m%udKd;aul l%u01

									         	  A fldgi
jdia;úl mÍlaIK m%Yak (OTQs)
wksjd¾h m%Yak myf<djls' ^15&

^uq¿ ,l=Kq 40&

01 jk m%Yakh i|yd fhdað; W;a;r 
(mßÉfÊoh 01 - .Ks;uh uQ,O¾u)

(mßÉfÊoh 02 - II fldgi - m%udKd;aul uQ,H - jÜgï lsÍu)

(mßÉfÊoh 03 - uQ,H l¾uKH ñKqï)

YS% ,xld .KldêlrK Ys,amSh wdh;kh
wOHdmk yd mqyqKq lsÍï wxYh

AA1 úNd.h - 2019 ckjdß
(AA12) jHdmdr i|yd m%udKd;aul l%u

fhdað; W;a;r

1.1   
 

 5X + 7 = 23 + X 
 4y  = 16 
 y  = 4    W;a;rh (2)     (,l=Kq 03)  
 

 
1.2  

 

   x[1 - (1+r)-n]   A = 100 000,  n = 4,  r = 0.18 
A        =                                  

    r  
 

 
           x[1 – 1.18-4]  
100 000  =                                  

        0.18  
 
      x  =   100 000 X 0.18   
          [1 – 1.18-4]     
  
                 x  =   37,174  W;a;rh (4)     (,l=Kq 03)  
 
 
1.3 
  

 TR = 4,500 + 30q - 3q2 
 MR = 30 - 6q   W;a;rh (1)     

(,l=Kq 03) 
1.4  
 

 I = prt  P = 150 000,  r = 12.25% =0.1225, t = 5 
 
 I = 150 000 X 0.1225 X 5 
 I = 91,875   W;a;rh (2)     (,l=Kq 03) 
 



AA1 / QMB jHdmdr i|yd m%udKd;aul l%u02

(mßÉfÊoh 02 - I fldgi - m%udKd;aul uQ,H - fmd<sh)

(mßÉfÊoh 05 - ixLHd;aul úia;rd;aul ñkqï)

(mßÉfÊoh 05 - m%udKd;aul úp,Hhka folla iei£u)

(mßÉfÊoh 06 - I fldgi - o¾Yl w.h)

(mßÉfÊoh 07 - II fldgi - iïNdú;djh iy tys fh§ï - II)

1.1   
 

 5X + 7 = 23 + X 
 4y  = 16 
 y  = 4    W;a;rh (2)     (,l=Kq 03)  
 

 
1.2  

 

   x[1 - (1+r)-n]   A = 100 000,  n = 4,  r = 0.18 
A        =                                  

    r  
 

 
           x[1 – 1.18-4]  
100 000  =                                  

        0.18  
 
      x  =   100 000 X 0.18   
          [1 – 1.18-4]     
  
                 x  =   37,174  W;a;rh (4)     (,l=Kq 03)  
 
 
1.3 
  

 TR = 4,500 + 30q - 3q2 
 MR = 30 - 6q   W;a;rh (1)     

(,l=Kq 03) 
1.4  
 

 I = prt  P = 150 000,  r = 12.25% =0.1225, t = 5 
 
 I = 150 000 X 0.1225 X 5 
 I = 91,875   W;a;rh (2)     (,l=Kq 03) 
 

1.5  
 
 50+52+54+56+58+60+x  = 56 × 7 
        330+x  = 392 

       x  = 392 - 330 
     x  = 62 
      W;a;rh (2) 

(,l=Kq 03) 
 
1.6   

          r   =                       n ∑ XY -  ∑ X . ∑ Y 

                    (n ∑ X2 -  (∑ X)2 ) (n ∑ Y2 -  (∑ Y)2 ) 

 

          r   =                      12 X 6425 – 76 X 913 

                    (12 X 560 -762) (12 X 75 153 - 9132) 

 

= 0.9607   W;a;rh (2) 
(,l=Kq 03) 

 
1.7  

 ir, iudydr ñ, o¾Ylh ( 01LP ) = 100
)(
)(

0

1 



p
p

 

 

                   = 100
900

1110
  

    = 123.33 

      = 123 %  W;a;rh (1) 

(,l=Kq 03) 
 
1.8  
 
 0.05 + 0.20 + 0.10 + 0.04 + X = 1.00 

                                            X = 0.25 
      W;a;rh (2)

 
 

(,l=Kq 03) 
    
 
1.9      
 

 18/37 = 0.47   
W;a;rh (3)  

(,l=Kq 03) 
 



AA1 / QMB jHdmdr i|yd m%udKd;aul l%u03

(mßÉfÊoh 07 - I fldgi - iïNdú;djh iy tys fh§ï - I)

(mßÉfÊoh 01 - .Ks;uh uQ,O¾u)

(mßÉfÊoh 01 - .Ks;uh uQ,O¾u)

(mßÉfÊoh 05 - m%udKd;aul úp,Hhka folla iei£u)

(mßÉfÊoh 02 - II fldgi - m%udKd;aul uQ,H - jÜgï lsÍu)

(mßÉfÊoh 02 - II fldgi - m%udKd;aul uQ,H - jÜgï lsÍu)

(mßÉfÊoh 07 - I fldgi - iïNdú;djh yd tys fh§ï - I)

End of Section AA fldgfiys wjidkh'

1.5  
 
 50+52+54+56+58+60+x  = 56 × 7 
        330+x  = 392 

       x  = 392 - 330 
     x  = 62 
      W;a;rh (2) 

(,l=Kq 03) 
 
1.6   

          r   =                       n ∑ XY -  ∑ X . ∑ Y 

                    (n ∑ X2 -  (∑ X)2 ) (n ∑ Y2 -  (∑ Y)2 ) 

 

          r   =                      12 X 6425 – 76 X 913 

                    (12 X 560 -762) (12 X 75 153 - 9132) 

 

= 0.9607   W;a;rh (2) 
(,l=Kq 03) 

 
1.7  

 ir, iudydr ñ, o¾Ylh ( 01LP ) = 100
)(
)(

0

1 



p
p

 

 

                   = 100
900

1110
  

    = 123.33 

      = 123 %  W;a;rh (1) 

(,l=Kq 03) 
 
1.8  
 
 0.05 + 0.20 + 0.10 + 0.04 + X = 1.00 

                                            X = 0.25 
      W;a;rh (2)

 
 

(,l=Kq 03) 
    
 
1.9      
 

 18/37 = 0.47   
W;a;rh (3)  

(,l=Kq 03) 
 1.10   
 
 Tn = 18 – 5n 
 T1 = 18 – 5X1 = 13 
 T2 = 18 – 5X2 = 8 
          d  = 8 – 13 = -5      

W;a;rh (4)
 

(,l=Kq 03) 
 
1.11    
 

fyd|u jHdmD;sh jkafka jHdmD;s A h' A jHdmD;sh Ok w.hla .kakd w;r B iy C j,g 
jvd Y=oaO j¾;udk w.h jeä fõ' 

(,l=Kq 02) 
 
1.12   

 Af.a fldgi re' X 

 B f.a fldgi re' X + 10 000 

 C f.a fldgi re' 2X 

 X + X+10 000 + 2X  = 850 000 

       4X  = 850 000 - 10 000 

        X  = 210 000 

 A f.a fldgi re' 210 000  

 B f.a fldgi re' 220 000  

 C f.a fldgi re' 420 000        (,l=Kq 02) 

 

1.13                
 fok ,o o;a; fol w;r b;d m%n, Ok iy mßmQ¾K iyiïnkaO;djla mj;S' 

   fyda 

 fok ,o o;a; fol b;d m%n, Ok iyiïnkaO;djla mj;S'      (,l=Kq 02) 

 
1.14     
 
 j.ka;sh ksjerÈ h'          (,l=Kq 02) 
 

 1.15   

           j.ka;sh jerÈ h'            (,l=Kq 02) 
(uq¿ ,l=Kq 40) 



AA1 / QMB jHdmdr i|yd m%udKd;aul l%u04

02 jk m%Yakh i|yd fhdað; W;a;r

										           B fldgi
wksjd¾h m%Yak y;rls' ^04&

(uq¿ ,l=Kq 40)

(mßÉfÊoh 02 - I fldgi - m%udKd;aul uQ,H - fmd<sh)

(mßÉfÊoh 02 - I fldgi - m%udKd;aul uQ,H - fmd<sh)

(a)  
 
 
  I = prt  P = 225 000, r = 14% =0.14, t = 2 
  
  I   = 225 000 X 0.14 X 2 
  I   = 63 000 
 63 000 + 225 000  = 288,000 
 
 jir 02 wjidkfha Tyqf.a .sKqfï we;s uq¿ uqo, re' 288 000.00  

(,l=Kq 03) 

(b)  
 
 
 
 (i)  A = 200 000, n = 2,  r = 0. 08 
 
   A        =    P (1+r) n 

              
A         =   200,000[1 + 8/100] 2  

 
          

X       =   233,280
                   

  
uq¿ uqo,  = 500,000+233,280 = 733,280 

(,l=Kq 03) 

(ii)  A=P(1+r) n 

200,000(1+(8/100*1/4)) 8 

200,000*(1.02) 8 

   200,000*1.171659381 

234,339 

ta wkqj" fmd<sh = 234,331.88-200,000 
           34,311.88 

(,l=Kq 04) 
(uq¿ ,l=Kq 10) 

 



AA1 / QMB jHdmdr i|yd m%udKd;aul l%u05

03 jk m%Yakh i|yd fhdað; W;a;r

(mßÉfÊoh 03 - uQ,H l¾uKH ñkqï)

(mßÉfÊoh 03 - uQ,H l¾uKH ñkqï)

( a )  
 
 
 TR = 700q, TC = 12500 + 450q 

( i ) ,dN Ys%;h 
 

TP = TR - TC 
TP =  700q – (12500 + 450q) 
TP =  250q – 12500  

(,l=Kq 03) 
 
 ( ii ) iu m%fNaok ,laIHfha §" 

  TR  =  TC 

  700q  =  12500 + 450q 
        q   = 50 
  iu m%fNaokfha §  = tall 50  
 

úl,am W;a;rh 

TR       = TC 

700Q   = 12,500+450Q 

250Q  = 12,500 

Q        = tall 50 

(,l=Kq 03) 
 

( b )  

 

 

TP     = -2x2 +100x + 600 

,dN Wmßu wjia:dfõ §; Dp (x) =0 

-4x +100  = 0 

-4x      = -100 

  x     =  25 

 
tall 25 § ,dNh Wmßu fõ' 

 
(,l=Kq 04) 

(uq¿ ,l=Kq 10) 



AA1 / QMB jHdmdr i|yd m%udKd;aul l%u06

04 jk m%Yakh i|yd fhdað; W;a;r

(mßÉfÊoh 04 - ixLHd;aul úia;rd;aul ñkqï)

  a)      
 
 
            
      A = 8 

ñks;a;= f x d fd fd2 
1 - 3 6 2 -6 -36 216 
4 - 6 11 5 -3 -33 99 
7 - 9 12 8 0 0 0 

10 - 12 13 11 3 39 117 
13 - 15 8 14 6 48 288 

 
50 

  
18 720 

 
 
 
 uOHkHh        =     A    + ∑ fX 
                                     ∑ f 
          

=  8    +    18 
                                        50 
 
          =  8.36 
 

(,l=Kq 04) 
 
b) 

 iïu; wm.ukh   =      ∑ fd2   -     ∑ fd   2 

                          ∑ f            ∑ f 

   

 iïu; wm.ukh   =      720       -     18    2 

                       50              50 

 

               = 3.78 
 

(,l=Kq 04) 
 
c) 

úp,H;d ix.=Klh  = 3.78/8.36*100 
 
          = 45.21 

(,l=Kq 02) 
(uq¿ ,l=Kq 10) 

 



AA1 / QMB jHdmdr i|yd m%udKd;aul l%u07

05 jk m%Yakh i|yd fhdað; W;a;r

(mßÉfÊoh 05 - m%udKd;aul úp,Hhka folla iei£u)

B fldgfiys wjidkh'

  
 ∑ X =1580,   ∑ Y = 1925,   ∑ XY = 229 300,   ∑ X2 = 293 200,   ∑ Y2 = 503 325,   n = 5  

   

 (a)      

 

 

b         =          n ∑ XY -  ∑ X . ∑ Y 

                                 (n ∑ X2 -  (∑ X)2 )  

 

       b         =          10 X 229 300 – 1580 X 1925 

                                   (10 X 293 200 -15802) 

 b         =  -1.72 

 

      a         =    y – b x 

 a     = 192.5 – (-1.7183) X 158 
 a   = 463.9914 
 
m%;smdhk f¾Ldj 

  Y  = a+bx 

                          = 464.26+(-1.72)x 

  Y  = 463.9914 - 1.72x  
 

(,l=Kq 07) 
 
(b) wdfoaYfhka  x = 150 
 
  Y  = 463.9914 - 1.7183x 
  Y  = 463.9914 - 1.7183 X 150 

 Y  = 206.2464  

úl=Kqï mßudj  206.2464  
 

wfmalaIs; úl=Kqï mßudj ^oyia .Kkska& = 206.25 
(,l=Kq 03) 

(uq¿ ,l=Kq 10) 



AA1 / QMB jHdmdr i|yd m%udKd;aul l%u

										          C fldgi
wksjd¾h m%Yakhls'

(uq¿ ,l=Kq 20)

06 jk m%Yakh i|yd fhdað; W;a;r

08

(mßÉfÊoh 06 - II fldgi - ld, fY%aKs)

(A)  

 

(i)  a = 100 + 110 + 120 + 140     =    117.5  

                                      4 

  b =  110 + 120 + 140 + 190     =   140 

                                     4 

  c =   120 + 140 + 190 + 160     =   152.5  

                                    4 

  d = 117.5 + 140     =  128.75  

   2 
 
  e = 140 + 152.5    = 146.25  

   2 
(,l=Kq 05) 

 

( ii ) 
jir  Q1 Q2 Q3 Q4 

2015 - - 1.071 1.031 

2016 1.057 0.985 0.87 0.957 

2017 0.932 0.957 - - 

tl;=j - - 1.941  

idudkH   0.9705  

 

Q3 = 0.9705 

(,l=Kq 04) 
 



AA1 / QMB jHdmdr i|yd m%udKd;aul l%u09

(mßÉfÊoh 07 - II fldgi - iïNdú;djh iy tys fh§ï - II)

(mßÉfÊoh 07 - I fldgi - iïNdú;djh iy tys fh§ï - I)

(B)   
 

 

 1/4            L   

    T 

   3/10              3/4            NL  
 
 1/3             L    
 3/5   B 

 2/3                NL  

1/10 1/12          L  

   M 

 11/12         NL    
 

T  -  lïlrejd ÿïßfhka jevg meñKSu 
 B -  lïlrejd nia r:fhka jevg meñKSu 
 M  -  lïlrejd h;=re meÈfhka jevg meñKSu 
 L  - m%udo ù jevg meñKSu 
 NL  - m%udo ù ld¾hd,hg fkdmeñKSu 

(,l=Kq 04) 
 

(b)  lïlrejd kshñ; fõ,djg /lshdjg meñKSfï iïNdú;dj  

=   (3/10*3/4) + (3/5 * 2/3) + (1/10*11/12) 

  =  (9/40)+(6/15)+(11/120) 

                          =  86/120 fyda 0.72                       (,l=Kq 04) 
 

 (C)   

 

 
  01 l%uh 

  A  - .Ks;h m%Yak m;%h iu;a jQ isiqkaf.a iïNdú;dj  

B  -  úoHdj m%Yak m;%h iu;a jQ isiqkaf.a iïNdú;dj 

  P(A) = 0.8 P(B) = 0.6 P(A∩B) = 0.4 

  P(A/B)  = P(A∩B) /P(B) 

     = 0.4/0.6 

  úoHdj m%Yak m;%h iu;a isiqjl=  

.Ks;h m%Yak m;%h iu;a ùfï iïNdú;dj = 0.67  fyda  2/3 

(a)



AA1 / QMB jHdmdr i|yd m%udKd;aul l%u10

B fldgfiys wjidkh'

02 l%uh 

                                                                                          100                    

 

     

                             0 .4                          0.4 0 .2 

                                                    

 

 

 

U  - udisl úNd.hg uqyqK ÿka uq¿ isiqka 

A  - .Ks;h m%Yak m;%h iu;a isiqka 

B - úoHdj m%Yak m;%h iu;a isiqka   

 

úoHdj m%Yak m;%h iu;a isiqjl= 
.Ks;h m%Yak m;%h iu;a ùfï iïNdú;dj   = 0.40/ (0.4+0.2) 

= 4/6  
         = 67 % 

(,l=Kq 03) 
(uq¿ ,l=Kq 20) 

 



AA1 / QMB jHdmdr i|yd m%udKd;aul l%u

Notice : 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.
These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.
The fundamental objective of this publication is to add completeness to its series of study texts, 
designs especially for the benefit of those students who are engaged in self-studies. These are 
intended to assist them with the exploration of the relevant subject matter and further enhance their 
understanding as well as stay relevant in the art of answering questions at examination level.
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